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ECONOMICS

Full Marks : 100
Pass Marks : 30

Time : 3 hours

The figures in the margin indicate full marks Jor the questions

ALLOTMENT OF MARKS

PART—A / Reli—s

Q. No. 1{a—f) carries I mark each : Ix6= 6
Q. Nos. 2-7 carry 2 marks each : 2x6 =12
Q. Nos. 8-12 carry 4 marks each : 4x5 = 20
Q. Nos. 13 & 14 carry 6 marks each : 6x2 =12

Total = 50

PART—B / Reis—vy

Q. No. 15( a-f) carries 1 mark each : 1x6= 6
Q. Nos. 16-21 .carry 2 marks each : 2x6 = 12
Q. Nos. 22-26 carry 4 marks each : 4x5 = 20
Q. Nos. 27 & 28 carry 6 marks each  : 6x2 =12
| Total = 50

Total (PART—A & PART—B) : S50+50=100
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PART—A
Rern—

( Introductory Microeconomics )

1. Answer the following :

7S ARy Seg iy -

(a) State the law of supply.
I RfEChr fora o

(b) What is break-even point?

Fores 7 2

(c) What is the shape of a perfectly inelastic demand
curve?

4l wifogIeRe v R SR Rl 2

(d) What does a point below the productio

N possibility
curve indicate?

%«vmmﬁwwmfiﬁﬁjﬁﬁﬁsﬁmm?

(e) What is market economy?

IG{ FLNS [F 2
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(f)/ What do you understand by price ceiling?

w9 T S 3ferce [ e o

2. What is opportunity cost? Explain with an example.
1+1=2

el I 19 7 O1 THRIPR WM T |

3. Write the law of variable proportion. 2

*ffeRIe e ffCer i |

4. State the law of demand and draw a demand curve.
' 1+1=2

i R Bl S w0 qorE SR (@RI S 9 |

5. Prove that for a firm, price = average revenue. 2

I T4 (@ (I 93 AR M, 71 = 7 7 |

6. Write the conditions of firm’s equilibrium. 2

2fSDINT SIPTTOR TSB! oIl |

7. How does imposition of per unit tax affect supply curve of

a firm?

GFF 9 A ARV @I ([FUF (AT SIS ¢ 2

2
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8. Discuss the characteristics of perfect competitive
market.

7 2SI T@e (ARMBPRR e T4 |

4

9. With the help of demand and supply curve, explain how

market equilibrium is attained. 4

DIV S QIS (IUR TS IGH STl g AR 51 31 |

10. Explain the law of diminishing marginal utility. 4
R 2R Seicafer RfFehr amm 3w |

Or / 91

What is price elasticity of demand? Discuss any one
method of calculating price elasticity of demand. 1+3=4

PIftwR w9 Rfemerrel 2 viRMR wa fRfwrrrel 997 1 R @ <
%S SACAA 91 |

Define production function. The production function of a
firm is given as Q = 5VLK, where Q is output, L is labour
employed and K is capital employed. Determine the level of
Q, when L =16 and K =36. 14324

@gmwﬂﬂwmlamﬁﬁs@m%wmmmozsﬁ
q»@Qm%ammﬁ,memmmqmé
tarz e R AT L=16 W K =36 g 07 e
fRefraer 91 |

11.
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Or / 911
Discuss the determinants of supply. 4

SIS fRefRRPTR SCEs <41 |

12, Write the differences between monopoly market and

monopolistic competitive market. 4
GICIoA TR AP GPCobAL AfSafFor I&RT NFPmR o |

13. Explain how a consumer attains equilibrium while
consuming two commodities. 6
781 T TSN (FqS SO GO (A STl S T, I
91

Or / 941

What is an indifference curve? Draw an indifference curve
and discuss its properties. 1+1+4=6
PR @9 0 qoE fReers @O SRw 79 uF R R

HIC0AT 91 1

14. Define average fixed cost (AFC), average variable cost
(AVC) and average cost (AC). Draw the AFC, AVC and AC
curves indicating their interrelation. 3+3=6

5% %9 IW (AFC), % RIS IW (AVC) S 9T I/ (AC)T K&
fois1 1 AFC, AVC 9IF ACY W[ WRBsT~$ Aferfre @ans @9i-

(R0 A 41 |
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Or / 9«1

Calculate TFC, TVC, AVC, AFC, AC and MC schedule from
the following table : :

O] O 2/l TFC, TVC, AVC, AFC, AC 9§ MC W S
9

AmountofProduction(Q) [ 0 | 1 | 2 | 3| 4 | 5 | 6
CeIRT AT
Total Cost (TC) 40 {100(120|130{150{190]|250
P

PART—B

Re—

( Statistics for Economics )

15. Answer the following :
wore e Teq fn

(a) Who forwarded the welfare definition of €conomics?

RGN NI TS (A SNOIRRe 9

(b) Write one limitation of statistics.

AfeRUM REWT 951 ARz By |
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(c) Write the direct method of calculating arithmetic mean
in case of discrete variable. 1

RAftxE 5191 CF® STIGT W SIS 2T “Taioco! fordi |

(d) Write the full form of NSSO. 1
NSSOJ 3= Feofehi ot |
(e) Who is known as the father of statistics? 1

A PRYM REWT g 19 &= I8 2

() Write one difference between diagrammatic
presentation and graphical presentation of data. 1

o2 oA Som Wi Erfbaln Sorgome Se@ @bl o1 o |

16. Calculate range and range coefficient from the following
data : 1+1=2

o9 ORI “[1 2R SF 2PIE QOIS Sl T4
12, 15, 18, 21, 24, 27

17. Write two differences between discrete variable and

continuous variable. 2
fifvze vo1e S SIRfoRA Sorpe Wed o1 ofefe Pk .

18. What do you understand by relative measures of
dispersion? 2
fRewoeR s Mot Jfercet 7 e 2
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19. Write two differences between histogram and bar
~ diagram.

82 = e o 751 enefam foray |

20. Write two limitations of ‘direct personal investigation’
method of data collection. 2

O RAXT “2IOrF (G PR 1 Sq 151 My By |

21. Write two features of statistics. 2
ARPRYM Reem 151 ¢y ey |

22, Briefly write about the methods of classification of data.

B CIAREIAN ey Ry sz e |

Or / 933y

Write the objectives of tabulation of data.

Y[ SRR STIPTR R |

23. The marks obtained by 9 students of a class gre giv
€n

ﬁﬁ43@399WNQEEEWSQWYWNQEWﬁNTﬁNSﬁm
S <91 t@il%ﬁmﬁ{

22, 65, 40, S0, 38, 20, 70 25, 75

/128



(9)

Or / T«
Write a note on Lorenz curve. 4
A 59 R 91 Bl oy
24. Calculate Karl Pearson’s correlation coefficient from the
following data : 4
T5q O o[ FE PICHROAT STITTE BN SR 74
X | 6 8 [12 |15 |18 |20 |24 | 38 | 31
10 |12 | 15| 15|18 |25 |22 | 26 | 28
Or / 991
What is rank correlation? Briefly outline its demerits.
. 1+3=4
I ST 3 7 T SPIRAPTR Kot fora
25, Calculate mode from the following frequency
distribution : 4
o RS OTES 7 TP A
r;;rg:l—(;_ 10-20|20-30|30-40|40-50 50-60|60-70|70-80
[l Bl B
4 12 18 25 16 9 7 3
EARS
[ Contd.
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Or / g1

What is median? Discuss its merits. 1+3=4

Tl R 2 TR RGP Sceman 4 1

26. Write the characteristics of an ideal average. 4

b1 = S1eq CAPERTYE e o

27. Write short notes on :
3+3=6

Bﬂmﬁl"ﬂ:

(a) Wholesale price index
fIZFIA 77 IR

(b) Consumer price index
TR W IPIRT
Or / &3Ar

Discuss the use of index number in
economics. the study of

‘wﬂﬁ@mﬁ*wmamsfp@vﬁwmsmaaaem@mmanTl

28. Discuss the characteristics of g
800d quegt;
10n

Q3 S PN (APEPTR SIS 5y |

Naire,
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Or / 9311

Draw a histogram and a frequency polygon from the

following data :

4+2=6
SR R °RI @51 3B’ A @1 IR<IO! 29w W 5
Marks Obtained |10-20|20-30(30-40|40-50|50-60 60-70
NMYNTT
No. of Students | 5 12 | 15 | 22 | 19 4
RIGT K
% ¥ &k
22C



